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SECTION- A

1. fa=foRad et & SR AR —

give the answer of following questions:

(i). Prefepdr, Mid<=YR AR Farfd Tifd f&F 9¢7 & dc | o 97

On the banks of river which were the three villages kolkota, govindpur and sutanuti

attached ?
(@) Ganga  (b) Godavari (C) Kirshna
(ii). UTAfA® &3 H BT B A 77
(31) B g @™ (@) ST e
() R ST (2) ST wh
What are the task in the primary sector ?

(@) Agriculture and food (b) Industry business

(d) Hugli

(C) Cottage industry (d) All of above

(iii) ORI ¥ TE SHCST B dTell ARGT BT ST U B BT 9T SR AT & 7 1
(@1) i @1 faia (@) geM ¥ FK TS BT AT
() T BT ATRID A B ST (]) Sugad a4l

What is the main reason for destruction of the business of women collecting gum in

gujrat?

(a) Export of gum (b) Import of cheap gum from sudan

(C) Gum extremely cheap  (d) All of above

(iv) DA b 99T BT FHER 9 © 7



Kesari is the news paper of which language ?
(@) Guijarati (b) Bengali
(C) Hindi (d) Marathi
(V) USHh &I qRT 19 7 & ?
(3 sffer gfosan ¢ gfram (@) offer gfosar grea g
() oifet sfoear e (3) SWIad 7 ¥ PIg el
The full name of AITUC is ?
(@) All india trade union (b) All india tribe union
(C) All india radio (d) None of the above
(Vi). TR AT BT RATIAT Bt off
(31) TSI MHEEE I (@) W& T AR
() e et (8) W= I 3rEHs @l

Satyashodhak samaj was founded by.

(a) Raja rammohan (b) Swami dayanand saraswati
(C) Jyotiba phule (d) Sir syed ahmed khan
(vii) 3rferepieT Ppraferal 7 o iy gar ® 7
(@) 5 °¢ &1 (@) 6 @< @I
() 7 °C BT (]) 8 ©C @I
Most offices have a working day ?
(@) 5 hours (b) 6 hours
(C) 7 hours (d) 8 hours
(viii) BT & o &SGR BT A fhd ATITS 3MQTeA BT IR & 2
(31) gfreTHS (@) gerarar
(%) spifcrepmer (@) 3=

The recent right to information campaign is an example of which social movement ?

(a) Redemption (b) Spiritual reformer

(C) Revolutionary (d) Others
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(ix) AT | FaRATel & Ui AR H Mg aRad+l &1 wudl ¥ I

b gQgall 1 fad=qT @t & ? 1

(@1) HaR HEmH (@) Gl BT FHY

(4) foari &1 gl (T) SURIaT T4

Sociologist satish sabarwal has discussed which aspects related to the design of modern
changes in operation colonial india ?

(@ Communication medium (b) Nature of organizations
(C) Nature of ideas (d) All of above
(x) IR, I, faig da] sl ST fod &3 @ 3f=id 8d & 7 1

@1 werfas &= @) feda®e &=
(4) adre e (@) SWad 5 ¥ Py TRl

Business, traffic, financial services etc. Industries come under which sector ?
(&) Primary sector (b) Secondary sector
(C) Tertiary sector (d) None of the above

(xi) IRBR &1 i Nfea # gRads or Fwer T 8 ?

(31) forstresor (@) IERIHROT
(%) TTSBRe (@) Sjaa wh
Change in the economic policies of the government have called ?
(a) Privatization (b) Liberalization
(C) Globalization (d) All of above
(xii) 71 % 9§ B9 A1 W Sellfdor © 2
(1) wH <t ({@) TR ™
SIRSIRSEL (@) 9 a9t
Which of the following is music television ?
@ MTv (b) Star plus

(C) Zee Tv (d) V channel

2. fr=ferRad wedl 7 Raa =i &1 gfid Sy —

Fill in the blanks in the following questions.

(i) FEOTHS TR A FGER TR TG Heoroe B B 1

In the negative rate the death rate is ------------- than the birth rate.



(i) TR AR JGaR & &9 Pl AR P B IR I8 B8l S Tl & (b STAE&.........

TR WR Ugd T8 T | 1
The difference between the birth rate and the death rate is zero, it can be said that the
population has reached -------------=-=--------- level.

(iii) o a1 HHBIST e | T BT ABHT T FFAT 3R e @ 4=
IR R IJ{ETRT BT 2 | 1

As per religious or ritualistic point of view superseded arrangement of caste is based on
difference between purity and ---------------=---------- .

(iv) ST QTR BT HA MR, = 1
The basic basis of caste system is----------==--==-==nmmnm--

(v) ST SaoTeal @ a8 Soft S A1 Sy A1 S & w9 H ST B FHEAT B 1

The category of social units that come in the form of neither male nor female is called-----

(vi) ISP FHTA | I0T FRAT........... AT A fawTiore ot | 1
Varna system in vedic period was divided into-------- parts.
gug — ¢
SECTION-B

3. f=falRed ool & SR €fvg —
(i) SRIPBRTAT SrguTd @RI 7 ? 1

What is the ratio of dependent ?

(i) U@ oreg &1 START FAT fdhar Sfram & °? 1

Why is the term pandemic used ?

(i) dTaT | ST TP HoR GRAT g+ ? 1

In which period cast become a rigid institution ?

(iv) R AIBRT IR yael A1 B HAhea1 b g™ &1 <7 8 ? 1
Which scholar has given the concept of sanskritization and dominant caste ?

(V) SEITHIST BT RRATYAT 6hd 3R fhad gRT &1 77 off ? 1
When and by whom was the brahm samaj founded ?

(vi) gdUet & @ a7 1

What is meant by prejudices ?

(Vi) TTI—STeR 3R qe—Tiex # =R qargy ? 1

What is the difference between trans-gender and third - gender ?



(Vi) & BIS a1 gHHE Idrgd ?

State any two side effects of industrialization ?

(ix) 3N M & AR U ST Bl 81 |l © ?

According to sriniwas what can be the dominant caste ?

(x) BB & SR A= Sifot & dig g &9 &9 81 @ E 9arsy

Explain how the distance decreasing between different caste due to sanaskritization ?
(xi)Irgqer Sferal o B <1 HHery sy 2

Mention any two problems of scheduled caste. ?
(Xii)RAR TS R SUARIGRI & BIs &I U9 a8 ?

State any two effects of colonization on indian society ?

g — 9
SECTION-C
4. TRl Hg AT &7 lera § |qHegy |
What is the support price? define in brief . 1+1=2
5. dford WWE A MY @1 |{EeSTd ® 7
What do you understand by disadvantaged group ?
6. Yoildie T § ? Al H \HsIEY |
What is capitalism ? define in brief. 1+1=2
7. RATY 3fefeeRelT T SFIHS Jfieaeell § Py al 3R falay
Write any two difference between weightless economy and cognitive economyl1+1=2
8. TR & QI WY HITH ©° quid B |
Describe what are two forms of culture. 1+1=2

9. OIIfa AT ¥ H PIS T R a8y ?

Give any two difference in caste and varna ? 1+1=2
10. 3MYFTaar o1 a1 fIervan qargy ?
State two characteristics of modernity ? 1+1=2

1. IfSd &5 9 AT & H qT R gdisd 7

State two difference between organised sector and unorganised sector. 1+1=2



12.

13.

14.

15.

16.

17.

18.

19.

O @& YAvSAHRT & R A ® ?

What is the advantage of globalization of finance ? 2

gewIe o AT SERT B H¥ ' ugars § ?

How the internet has damaged the music industry ? 2
AnfEe d9q & RIgia o A g ?
What is the limitation of theory of relative deprivation ? 2

fde Aifoal & ded WRBR gRT SARIBRY & foIv fhd T BIE 3T YT BT
ERIERL

State any two effects made by the government for liberalization under economic
policies.2

SR DT HHHIT B I TROT BId—hId A & 2

What are the three stage of demographic transition ? 2

Y lg —
SECTION-D
T fAyadar iR 9fiespR fog TR IMIioTe 2 ? IRam Hifsru

Explain how social inequality and exclusion are social ? 3
31erdt / or

JGTIAT DI IRATNT HITY! 3Ry Sl & Ul Aewrg & fied & forl ISR

UATEl T FHSSY |

Define untouchability. explain the efforts taken to eradicate discrimiuation against
untouchable caste. 1+2=3

JAMYFBIHROT BT 3 W B | FHIST W MYFDHIBIOT & T YA U 2

Explain the meaning of modernization. what were the effect of modernization on

society? 1+2=3
31erar / or

AT URadT & fafi=T JbRI &1 fad=qT Hifsu

Describe the different types of social change. 1+2=3

SUMILEATE BT AN Sigd WR &7 YHT 83l 8 290 HIFT |

What were the impact of colonialism on our lives? Describe. 3
31erar / or

TG & AR TS IR gY TTal Bl AHSISY

Describe the impact of urbanization on indian society. 3



20. WIRA ¥ Y TSI [HAM <Ied & Y RO I8 |
Give the main reason for most of the peasant movements in india. 3

31qar / or

JMHTSTD 3T & YbRI DI AT HIfOTU |

Explain the types of social movement. 3
g — ¥
SECTION- E

21, Rd H TR WA A 2017 & Agayol el forRay |
Write the important goals of national health policy 2017 in nidia. 4
3erar / or

S — YHY U BT 3 T 2 ? ARd 7 RA g SN—JHY AU & folv IR
U BRP a1 2 [Jde= BTy |

What is the meaning of male-female ratio, what is the main factor responsible for the falling
male-female ratio in india ? Describe it. 1+3=4

22, YR H Sl BT AR fhd YbR fhar a7 8 ? 9o $HIfoe 4

How are tribes classified in india ? describe it.

3ferat / or
URAR ¥ 3T T FHSK © ¢ 9 A9y Sl Bl T B |
What do you understand by family ? Explain the different types of it.  1+3=4
23. RA ¥ ARG & A& H AARR—US & AT B T9mgy |

Explain the role of the newspapers in the development of nationalism in india. 4

31eqar / or

SEER 6 @Ed § ? S9D T AIH HiT—dH 4 T |

What is mass communication ? what are its main medium. 1+3=4



